®dopmart A3

= =
R gl = 3| _
ST m ! gl <
- 20T |° S VH0E/V0Z “ S
x5 w AY6HSO o€ _ “ =
5 E o A\ =7 'WY 'UN Nlola Q (sHxfiy) " >
a| T 2 A\ \&v TXE-ST-(V)enag V_k o o~ ™ NYWIE0H - m
[=] N < <>
=y a- u
= S E & vHoe/voz < 2| ™
z| 5 S W H76HST o€ - sexfy) r
8 % ool - N =1 "W ‘N S p 2 & |ezs 3 vIoNaL =
RS B \&v TXE-ST-(VI2r1a8 NP m | = |LYWOLX3SHON0dVL 2 =
Sls T - NAWIEO0Y a o
s| = S VHOE/VYL S S| o
3 & @ Hvensd o =
3| g & TAMeHSa 0 ° £
S ‘M < gHXA c
S| 2 I .\ =1 "M ‘UM Tl<lgl 8 (Hxfiy) .
— m S \&v qZXe-ST-(V)eH1dad r_.k _w. ~ o NXWIE0yd %
()
j=al o %
3 1 g0 5
% i S 0€ gy © o whxhi % o
N \&v TRE=S T VIR Iad U | = ~ o= ONIEE M _ m nWJ
T yHOE/VYL 2 o 2 e
W THv6HSa o€ - (sHxfit) 4 2 2 € ¢
\ =10 VA S o la | 2 |fuu3dnows vzzd Q@ Sg ¢ 3
B \&v 7XG=ST(V]erIdd \J S < =y =3 1[9nnNNu BYP qRIy S I mog
© NYWIE0H >3 = E
- VWOE/VIL a n% S g
& dl76HSa 4 (sHXAY) 19NNNU BUp . o S 35
= \ =799 £ - NIIWIDEXDUXO0 VoW x g 9 S o
=1 MM UM Sl <3 o 0 o B . > S s S 2
> SIXe-ST(v]enIgd N (= — ™ |'NI9W3DPXKDUXO0 VOW) - E E z e
= nwacoy g g x = =
= YHOE/VYL x g 2 2
& H76HST <€ . ™ 5 8
=799 — gHXAY) =
N 10 UM AR ( .
~ \&v S ¢Xe=ST-(v)erIgad \l/ | = ~ o NAWIEDH _ _ _
2 VHOE/VYL g 2 2 2
L di6HSa 9 ol e o
= =1 M0 UM 3 o = (BHXAY) =
A 1 S " =
B \& SIXe-ST(v]enIgd N o — ™ NIWIEDY M
mn
L e « 3
=
S
——\ =1 "W UM i o| o (sHxy) :
\ r=—cT=teH < | = ©  |NMWIDPXDUX0 VoWw)| tn X
S \& SRS TV e TEY I o N = a0y S
2 yHoE/VIL =
W TgHSa o (8HXY) E
3 gy o~ =]
A~ \ =T MM UM — = ~ pwinmfA srp
N PN N | wJ =3 o N =
it I N \&v 5 CXES T (V)erIdd N e - - nisHavneodow oM ~
it NAWIE0Y Z
v NERALZALIY <
< | e N TN 0% _ S
8 — =\ =1 U Tlol2 B (deg) - .
- > \& S CXe=ST(V]erIdd \[J | & o~ N NIWIE0Y =
5 & S yHoE/vol =
28] nm <C |
* L HW6HST 0% -
~IR|2 NEEEEREN =1 WY UM Sl <! © (vog) -
: N e ; . od
3 o & \&v CZXE-S1-(v)2niad |~ N IEN nIwaE
N = yWOE/YYL
Tlal e % AMeHSa
L Z 07 =7 'Yy o o © (vog)
N =19 U AR N
A \&v QZXE-ST-(V)eH g | = ~ * nMW3E0y
S VHOE/VYL
5 dl6HSa 0%
A\ =1 W UM °lolsl = (vDg) .
B \& SIXE-ST-(V)erIgad N = ~ o nYWIE0y
=  YWOE/VIL
s & TAmeASa 0
< A P\ =199 U ml<lg 8 (vog) N
S 3 > \&v S (RETST(VIeRIEd U | = ~ EN NYWIE0d
| e o oe)
a ol Ll o QS5 g o= ®  YHOE/V9L
[2a) m 2l m =S S i ocn
B 3 =3 m WM < W R S dlm6HSa 07 o o (vaefiHDI
N = 1 =
S Z 3T 298 2 \ C \ . Nxm._mw_v?“\mv__ﬁ_mm Alul S M 'DAVDYIPED) =
= ] vy S Y — e
= = V_K = nIWIE0y
e VWOE/VIL
< [ I dl6HSa 05
- = = % _ =1y n o | w (3nd0)
R \ 1 U lmls] s N
< A \& G'ZXe-ST1-(V)eHlad r_.k = ~ IEN NYWIE0Y
7 zw d VWOE/VOL
- o | -
- M % HM6HSO o N . wactm: .
S 1 \ = o ~ -
© e A 10 U L | << | < |'Divpgapend 'Indg)| T
5 T & 3 - <
E \& SIXg-S1-(V)eHlag ® = =) o~ SnHAM3gI0 !
2|2 Ny
Sz S 7025 0c
alg — =79y UM m = 5 (vog ‘dog 'sHxfy) | ™
s , \ S ® 1osg Lo G
- S1Xg-ST-(V)eH1gd 2 = i anHamagaQ wn
= vol
| —_—
& 10TS
S 0§
] \ =7 'MY UM N o ~ (dRgwouw 'vog) o
B — = SIXg-S1-(V)2H1dd ® = @2 N 3aNHaMagaQ ™~
M VoL
° = ” anHaMagIo
—— =1 W UA N o | _
o ~ — - SIXE-STY4-(V)2H1gg ® = < s 3 aoHHoNNDRYDQE
o
— ZW
| o
5 <3 5
2es | & £8
5 = 83 g ¢ . g 5 g
=} o I
=) <t S = m m S % g m a m g z 2 = ° 5
3 EERRS- Tl s3] ¢ N - 2 :
<= 3
w m a2 .W W— 2 M m o v o 3 zw w
5 5|5 w = g g o ez c 3 < S35 z
c I E m M << o M.MMA EX o S = a a - M z s e
g c<Zlc¥Elecal o = &g =] 59 X S o 5 5| S S 3o 2
ES 2PzE2 8852 =| & mmm /228 M WMM 7 I T | = | a — T =z
& 2?3 © s
wyHAU nIHavaw nnHAY £3¢9 wndoutn £33
-nvapaduind namgpoxwo c nogowsfl = MMHWINALOdLMIVE
‘pogoduoHn wodouuy
N ‘8HM ‘Weeg | eleT v qounuTol] | ‘ufou N "gH|/




